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PART -B

Direction (Q. Nos. 51 & 52) : Pick the word
that is nearest in meaning to the word
underlined in the given sentence.
51. He was averse to postponing his trip.
(A) accustomed
(B) inclined
(C) opposed
(D) encouraged
52. The officer has an inimitable record.
(A) unique
(B) objectionable
(C) long
(D) corrupt
Direction (Q. Nos. 53 & 54) : Pick the word

that is nearly the opposite in meaning to the
word underiined in the given sentence.

53. Heis pliable in his conduct.
(A) flexible
(B) rigid
(C) balanced
(D) mild

54, Adversity was his constant companion.

(A) prosperity
(B) hard work

(C) joy
(D) devotion
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Direction (Q. Nos. 55 to 58) : Pick the
appropriate words to fill in the blanks.

55. He believes proper
planning.
(A) in
(B) at
(C) with
(D) after

56. The manager was divested
all power.
(A) with
(B) of
(C) at
(D) on

57. Anything
(A) of
(B) with
(C) in
(D) after

excess is bad.

58. His griefis
(A) subtie
(B) intense
(C) golden
(D) grumpy

Direction (Q. Nos. 59 & 60) : Pick the
appropriate phrases to fill in the blanks.

59. We must his request.
(A) accede with
(B) accede at
( Turmn over)
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(C) accedein

(D) accede to
60. The chief guest

(A) gaveup

(B) gave away
(C) gavein

the prizes.

(D) gave off

Direction (Q. Nos. 61 & 62) : Pick the word
that correctly expresses the meaning.

61. A place where pigs are kept :
(A) Burrow
(B) Den
(C) Sy
(D) Lair
62. The scientific study of birds :
(A) Alethiology
(B) Algology
(C) Omithology
(D) Demography
Direction (Q. Nos. 63 & 64) : Pick the word
which is correct in spelling.
83. (A) Assimilate
(B) Asimmilate
(C) Assimmilate
(D) Assimelate
64. (A) Guarantee
(B) Guaranti
(C) Garantee
(D) Gurantee
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Direction (Q. Nos. 65 to 68) : Pick the comect
meaning of the expression.
65. Afish out of water :
(A) An object ready for eating
(B) Afishinanagucsiun
(C) Tobein a situation one is unsuited to
(D) A clever person in trouble

66. To swim against the tide :
(A) Toactirresponsibly
(B) Toimagine a difficult situation
(C) Toswim in shallow water
(D) To try to do,something that is very
difficult
67. Aredherring :
(A) A clue that is intentionally or
unintentionally misleading
(B) A communist rebel
(C) Amedieval martyr
(D) A miserly guardian

68. Belowpar:
(A) Belowthe surface
(B) Not as good as average or normal
(C) Not as good as the best
(D) Below the sky
Direction (Q. Nos. 69 & 70) : Pick the
meaning of the given foreign expressions.
69. Adhoc:
(A) Arranged in a particular order
(B) Done for particular purpose only
(C) Formed with a particular plan
(D) Carried out to perfection

Contd.
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70. Vox populi :

(A) People's box

(B) Opinions of the majority

(C) Grievances of the people

(D) People's march
Direction (Q. Nos. 71 to 74) : Pick the correct
prepositions to fill in the blanks.
71. The bookis the table.

(A) against

(B) under

(C) on

(D) inside

72. The screenwriter searched
meman_uscript
(A) after
(B) in
(C) for
(D) at
73. He made his escape by jumping
a window.
(A) over
(B) upto
(C) outof
(D) between
74. Look, thathouseis —_________fire.
(A) through
(B) in
(C) on
(D) around
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Direction (Q. Nos. 75 & 76) : Pick the
feminine form of the word underlined.
75. The adult gander is remarkable.

(A) mare

(B) ewe

(C) goose

(D) deer

76. The fox jumped over the fence.

(A) filly

(B) vixen

(C) doe

(D) sow
Direction (Q. Nos. 77 & 78) : Pick the words
denoting the young of the following.
77. Seal:

(A) Squab

(B) Pup

(C) Chick

(D) Puliet

78. Fish:

(A) Keet

(B) Elver

(C) Fry

(D) Cheeper
Direction (Q. Nos. 79 & 80) : Pick the word
having association with the following.
79. Opera:

(A) Choral

(B) Soprano

(C) Minstrel

(D) Jazz

( Tumover)
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80. Circus :

(A) Priest

(B) Elevator

(C) Clown

(D) Dance
Direction (Q. Nos. 81 & 82) : Pick the
diminutive form of the following.
81. Stream:

(A) Streamlet

(B) Rivulet

(C) Rill

(D) Brook
82. Rabbit:

(A) Bunny

(B) Cub

(C) Kid

(D) Lamb
Direction (Q. Nos. 83 & 84) : Identify the
part having an error.
83. (A) Priyanka

(B) has cleaned

(C) herroom

(D) two days ago.
84. (A) Haveyou

(B) ironing

(C) the clothes

(D) yet?

Direction (Q. Nos. 85 & 86) : Identify the

underiined part in the given sentences.
85. Laughter erupted from Mohit, who
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hi rsev u ard.
(A) Noun clause

(B) Adjective clause

(C) Adverb clause

(D) Parenthetical clause

86. Wherever there are computers, there is

Microsoft software.

(A) Adverb clause

(B) Parenthetical clause

(C) Adjective clause

(D) Noun clause
Direction (Q. Nos. 87 & 88) : Pick the correct
sequence of the sentences.
87. (P) ofthe committee

(Q) in the middle of the conference
table

(R) the mostimportant person inthe
room

(S) sits the Chairman
(A) RSPQ
(B) QSPR
(C) RPQS
(D) PQRS

88. (P) fought the monster, killed it

(Q) the leading god
(R) into two halves
(8) and chopped its body

(A) PQSR

(B) RQSP

(C) QPSR

(D) RSPQ

Contd.

https://www.freshersnow.com/previous-year-question-papers/



Direction (Q. Nos. 89 to 100) : Pick the 96. (A) Letmetogo. You're hurting me.
sentence having no errors.

89.

91.

92,

93.

(A) Whattimeitis ?
(B) What s it time ?
(C) Whattimeisit?
(D) Whatitis time ?

(A) The television are on.
(B) The television is on.
(C) Television is on.

(D) Television are on.

(A) Mukesh took the garbage.
(B) Mukesh took out the garbege.
(C) Mukesh took out the garbage.
(D) Mukesh took the garbege.

(A) Whoever works hard he will win.
(B) Whoever works hard will win.

(C) Whoever works hard she will win.

(D) Whoever work hard will win.

(A) One should not waste one's time.

(B) One should not waste his time.
(C) One should not waste any time.
(D) One should not waste her time.

(A) Have you apen.

(B) Have youapen?
(C) Do you have apen ?
(D) Do have you a pen.

(A) Studying very hard on weekends.
(B) Studying on weekends is very hard.

(C) Studying weekends is very hard.

(D) Studying on a weekends is very hard.
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97.

98.

(B) Letlgo. You're hurting me.
(C) Letme be go. You're hurting me.
(D) Letme go. You're hurting me.

(A) My father would never allow to study
Chinese,

(B) My father would never allow me to
study Chinese.

(C) My father would never allow me to
studying Chinese.

(D) My father would never allowed me
to study Chinese.

(A) The House of People has a
maximum strength of 552 members.

(B) The House of the People has a
maximum strength of 552 members.

(C) House of People has a maximum
strength of 552 members.

(D) House of the People has a maximum
strength of 552 members.
(A) 1gotothe store and | bought milk.

(B) 1go to the store and | have bought
milk.

(C) 1go to the store and | buy milk.
(D) Igoto store and | buy milk.

100. (A) He eaten his lunch just a while ago.

(B) He has eaten his lunch just a while
ago.

(C) He ate his lunch just a while ago.

(D) He is eating his lunch just a while

ago.

( Tum over)
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